Calculus III
Math 241-002
Fall 2025
Quiz 6
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For yz+xIny=2z"+2, find % and Z—; using any technique. Simplify your answer.

Lot ch/gl'-l): \3‘{: *YQ«\\l- 1:2- = 2. Then
F; < Invl
F:a - 2 ¥ X
; =y - 2%
—a—}-‘:’fx—: - ’Qnul = 'Q"‘?
i Fa Y-1% {—"::_C;
%—i—- - F % b X x}— 2
J? " ’F’f = 3 - _________? 2
y- 27 2y -9
A ) }eran m)ﬂu/}a Y,
2 - 2z )__1— 4 £n < 2'%2_‘3 =
L (yer xhy)= 2 (42 2 9P Y o
2 . Iy
2 %X 22-Y
2 (o2 + xRay) = Q[ziz\’?Z"f;??—- » X = 172z >
)? J? I "5y °y 7 2y
?19%-2 YT = -X-YdT 5 Iz _ X+9t
4 2
73 Z 922-?



